Worksheet | Draw a diggram

SR e
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Use tree diagrams to solve the following.

I Henry's Pizza Pantry sells pizzas with a variety of toppings, if you like vegetables!
The menu includes red peppers, mushrooms and celery for extra healthy pizzas.
You can have cheese with one vegetable or cheese and ham with one vegetable.

SN RN

What are the different pizzas that Henry makes?

2 The scouts have lots of fund raising jobs to do.

The biggest job for everybody will be a massive weeding of the gardens.
After that, there is sweéping, mowing and digging to be done.

Finally the groups will have to divide into 6 to do planting, staking,
watering, mulching, trimming and carting away rubbish.

Thete is mass confusion at first, but the scout leader brings order by drawing d tree d‘i'a'gr‘um.
What would each person do for each job? Write the jobs on the branches of the trees.

First Job Second Job Third Job

A

JEb, JOdy, Ken, Kip,\

Trent, Monti
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Worksheet 2 Draw o diagram

members in each generation. It has branches like an upside down tree.

I Old Jack had a wife, Elizabeth, and 4 children. Two of his 4 children married; the other two,
Joan and Arthur, remained single. Tom and his wife Maisy, had 3 children, Fran, John
and Bessie, while Jessie and her husband Danny, had 2 children, Dan Jr and Amelia. How
many people came to their Christmas dinner (when the whole family always met)?

Circle all of the youngest generation on this family tree.

|
¢ld Jack m. Elizabeth

Joan Arthur Tom Jessie
m. Maisy
|
i I I
Fran Jahn Bessia

m Danny
i

i I
Dan by Amelic

2 The first settlers to arrive at Worthington were Martin and his wife Myrtle, Their children were
Stanley, Gregory and Maude. Stanley's wife was Vivienne and they had 3 children, Harry,
Stan Jr and Felicity. Gregory remained single. Maude married Peter and their children were
Zachary, Joseph and Larry. Draw the family tree to show the three generations of this family.

- N
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Worksheet 3 Draw a diagram

I a Place the following important events on the timeline of part of Eva’s life.

At 1 year of age, her first tooth appeared, At 2¢ vears, she attended nursery school. When she
was 4, she went to preschool, before beginning school at 5 years. The day she turned 6, her
Dad bought her a bike and when she was 7% she broke her arm. On her 9th birthday, she had
a sleepover with friends for the first time. At 11 she entered Year 6. At the end of that year
she graduated to secondary school.

I I i T i T T i i I 1 I

0 2 4 6 8 |0 12

b There were more important events in Eva's life before she began school than after.
true/false

a Draw a timeline to plan out the year on Grant's Dairy. Divide it into 12 months.

In June, 2 new calves were born while in May, 3 cows had been sold.
Also in May, there had been a blockage in the water pipes to the cows’
feeding yard. At the beginning of spring, another 12 cows had calves
and in October, 5 new cows were bought for the herd, In February, a
new dairy worker had to be trained and then in November another one
had to be trained. During March the hay was cut for winter feed.

b The busiest season of the year was spring. true/false
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Worksheet 5 Draw a diagram

R e

Use Venn diagrams to help organise data into groups.

Example | 8 children went swimming, then had ice-cream.
6 played soccer then had ice-cream. e

4 children had only ice-cream.,

Swimming Ice-cream  Soccer

I Put the shapes in the correct sections to show their properties.

square, circle, rectangle, ellipse, cube, hexagon, pyramid, octagon, triangle, cylinder, cone

Polygons 3D shapes Curved shapes

2 If the following numbers were making teams, they'd line up in these ways:
Prime numbers, Triangular numbers, Multiples of 7.
a Put these numbers in their correct teams. 3, 10, |1, 14, 15, 19, 28, 35

b Which numbers are members of more than one team?

Prime numbers here!  We are triongular numbers. Multiples of 7 over here!
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Draw g diagram

I At the Finer Fitness Club, 22 members were in the Weight Loss Plan and 24 were in the Flexibility Plan,
8 members were in the Flexibility Plan as well as the Water Fit Program. 6 were in the Weight Loss
Plan as well as in the Water Fit Program. The Weight Loss, Flexibility and Water Fit Programs each had
16 people who were in no other Plan or Program. How many people were in the whole club?

Weight Loss Water Fit Flexibility

2 When the Get-Tt-Done-Girls took off for their Camp during the summer, they were excited about
the new activities they wauld try. 6 would try horse riding, 8 would try canoeing and 6 would
try cooking, all for the first time. In the whole group, 9 girls were doing an activity a second time;
4 had done horse riding before, 3 had done cooking and 2 had done canoeing, How many girls
are in the whole group?

Horse riding

Canoeing

3 a Put the following numbers in their correct areas — those divisible by 5 in the triangte;
those divisible by 6 in the ellipse; those divisible by 4 in the rectangle.

5, 15, 18, 24, 28,
30, 32, 40, 54, 75

b Which numbers are
divisible by 5 and 62

¢ Which numbers are
divisible by 4 and 67
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Worksheet 7 Draw a diagram

la

2 G Ay e T s ST TR,

Tt rained most of the weekend when the Jetsons went on holiday. Three-quarters of the rain
fell on Saturday, Colour this fraction blue, Half of that fell on Saturday morning, Draw black
lines over this fraction.

More rain fell on Saturday morning than during the rest of the weekend. true/false

Grandpa Jetson gave one-half of his money to his children. Colour this section red. He then
gave one-quarter of what was left to his grandchildren, Colour this blue. Half of the rest
went to a charity. Colour this yellow.

Grandpa gave the smallest amount to his grandchildren. true/false

The Jetsons spent four-fifths of their money on accommodation. One-quarter of this was for
parents’ rooms, and one-third of the remaining accommodation money was for children's
rooms. Colour this on the diagram.

The pdrents’ rooms cost more than the children's rooms. true/false

A birthday cake for Jimbo Jetson was cut in half. One half was cut into 8 for the Little
Jetsons, while the other half was cut into 6 for the Big Jetsons. 2 pieces of the Little
Jetsons' cake were left and 2 pieces of the Big Jetsons' cake were left. Colour the diagram
to show this,

b The Big Jetsons left more cake than the Little Jetsons. true/false
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Worlsheet 8 Draw a diagram

Draw diagrams for each question.

I Four children each had two-thirds of an orange at half time in the
tennis gume and there were four-thirds of orange left.

How many oranges were there to start?

2 From two and a half metres of ribbon we cut eight pieces, each one-fifth of a metre in length.

How much ribban is left?

3 At the District Show I intend to spend one-~quarter of my
money on food, three-eighths of my money on Show Bags
and I hope to still have three-eighths of my money for rides.

If T want £45 for rides, how much money will I need
to start with?

4 In the village of Gophourit, most children spend
one-third of the day sleeping, one-quarter of
the day at school and just one-twelfth eating.
How much time is left for other activities?
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Workshee Look for patterns
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/5 Draw the mirror image. )
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Worksheet 2 Look for patterns

A set of numbers following a pattern is called a sequence.

I

We ¢an make a sequence beginning and ending anywhere.

9

10 How many numbers are in the sequence of square numbers less than 502

Make a sequence of 8 numbers according to each given rule.
a multiples of three; starting from 3
b divide by 10; starting from 14 000

¢ add |, multiply by 2; starting from 3

d one less than double the number; starting from 4

e the sum of the preceding two numbers; starting from 2, 3

Write the sequence of days of the week containing the letter 's.

Write the sequence of months of the year containing the letter ',

Write the sequence of prime numbers less than 40.

Write the sequence of composite numbers between 25 and 40.

Write the sequence of numbers divisible by 4 which are < 30 but >10.

Write the sequence of odd numbers which are prime and also less than 10,

Write the sequence of numbers which grows by 5, beginning with 22 and ending with 57.

How many numbers are in the sequence of multiples of 3 between 40 and 507
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Worksheet 3

1 What numbers are hidden under the squares marked with an X?

a

a

a

Look for patterns

I X 28
X 37
X
[ 7 37
X X
X
X
X 32.5
X 16
14,5 X !
2 Complete the magic squares.
8 | 1 b
3
4 2
3 Write each rule, Then fill in the blank spaces.
Input }Output b Input | Qutput Input | Output
! 5 I I I 2
2 8 2 5 4 17
3 3 9 6 37
14 4 I3 7
|7 21 65
7 8 5
37 401
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Worksheet 4 Look for patterns

e T

The competitors are trying everything to bring home even more medals than
they won last Olympics. See how much they are training to be fitter and faster!

I The rowers trained for the 500 m Eights and think that they can improve by taking fewer
strokes every time they do the 500 m. If they can cut one extra stroke from their count
every week, in what week will they be doing less than 40 strokes?

Week [1|2|3|4|5]6]7

Strokes 15251

2 Mack MacMaster was very clever at getting Frannie Fisch to improve her swim times a little
each week. The following table shows how her best times progressed in a pattern. Complete
the table to show her time in Week 8.

Week ] 2 3 4 5 6 7 8 a

Time 4523 42s 40+48 39:6s 38-825s

3 Andie Artache wished to gain weight for his wrestling competition. The following
chart shows his weight guins during the months leading up to the competition.
Follow the pattern to complete the table.

Date Mar7 | Mar2l | Apr7 Apr2i | May7 | May2i {Jun7 | Jun 2l

Weight | 84kg | 90kg §95kg | 99 kg

4 Every 4 doys, Hubie Huggers needs to improve the distance he runs in 55 sec by 0-5 metres
more than he improved in the previous 4 days. On Mar 3 he can run 400 m and on Mar 7
he can run 400-5 m.

a Complete the table.

b How far will he run in 55 seconds at the end of March?

Date Mar 3

Distance | 400 m
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Worksheet 5 Look for patterns

4 I Write the number plates that were made between the following:
a ABC 994 ABD 001
b DJ 95 AA DJ 00 AB §
¢ AY 9989
AZ 0002
d 12997 UA 003
e 36JJ49 36 JP 49
\ J

(2 In the town of Nockley, house numbers have an unusual way of progressing.
Starting at A0 in the East or South on one side of the road, and Al on the other,
they progress by two before changing the initial letter. So A8 would be next door
to B0, and A9 would be next door to BI on the other side of the road.

What are the house numbers on either side of the following?

¢ D& b RO
c S1 d J4
e Xe f Y9

-
3 Write the rule for progressing each of these series,

0 45,56, 68, 81, ...  Rule:

b 3,8, 15, 24, 35,... Rule:

¢ |, 8,27, 64, .., Rule: -
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Worksheet 6

:
stil

I The Council of Moggy has to employ more cats to carry out big projects in the new year. They

Look for patterns

decide to double the number of workers plus one extra each week. Complete this table to show

how many cats are employed each week in total.

Week 1

Weal 2

Week 3

Week 4

Week b

Week 6 | Weel 7

Week 8

Week 9

Week 1O

3

7

2 The Moggy workers are not very honest cats, and their tools keep disappearing.

Tn week 1, there were 54 tools, In week 2, ten tools were lost. But each week, one
less tool is lost. Complete the table to show when they will have no tools left at all.

Week 1

Week 2

Week 3

Week 4

Week 5

Week 6 | Week 7

Week 8

Week 9

Week 10

3 Because of the lost tools, the working cats of Maggy are paid a little less each week.
Study this table and decide how their boss works out how to pay them.

Waek |

Week 2

Week 3

Week 4

Weak 5

Week 6 | Week 7

Week 8

Week 9

Week 10

£285

£280

£276

£271

£267

£262

£258

£253

£249

£244

The cats would be paid

4 Each day, the cats are arranged in teams which number between 3 and 8,

Study the table in Question 1 and complete this table. Discuss the pattems formed.

Wi

w2

W3 | W4

Wh

Wé

a number left out when in teams of 3

b number left out when in teams of 4

¢ number left out when in teams of 5

d number left out when in teams of 6

e number left out when in teams of 7

f number left out when in teams of 8
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Wotksheet 8 Look for patterns

I Paying off a credit card is a difficult but wise thing to do. Jeremy paid off an initial
£100 in May, and then each month wanted to pay £50 more than the month before.

Complete the table. Be careful - all the months are not consecutive!

Month May June Jul Aug Sept Oct Dec

Mar

Total Amt Paid | £100

2 Jenny pays her credit card off differently. She owes £4 750.
Her rule is to pay £50 in May then double the payment each month.

a Complete the table to help her keep  record of her expected
balance each month.

b When will her balance be nil?

Month May June Jul Aug Sept Oct Nov Dec
Batance
3 Poppie's credit card has interest added every month. She vows to pay £100 each month,

Although she pays this amount, and it is taken from the total, every month £5 interest

is being added.

a With an initicl balance of £1 500, what will be her balance after 8 months?
Month May June Jul Aug Sept Oct Dec Mar
Balance

b How much will Poppie still have to pay ofter |5 months of paying her bill?

4 Toni bought a car on credit. The car cost £7 800 and interest payments
of £42 are added each month. He wants to pay it off in 12 months.
How much will his monthly payments be?

Copyright @ 3P Learning ~ Problem Solving
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Worksheet | Work backwards

s

Write a number sentence for each problem. Use inverse operations
to find the answenr.

Example | 1f you add 10 to my favourite number you have a number that is the square of
holf a dozen.

Number sentence: & + 10==6x6  Take 10 away (inverse operation) from 36
(A =6 x 6 - 10), to arrive at the favourite number, 26.

I If you take my favourite number, multiply it by the sum of 7 and 9, and take away 14
you arrive at the answer of 18.

Number sentences

(Solui:ion )

2 After you have divided my number by 9, added 14 and multiplied by 3, you will end up with 66,

Number sentences

( Solution )

3 If you halve my number, square the answer and subtract the difference between 70 and 36,
you will arrive at a number equivalent to Il times 6.

Number sentences

(Solut:ion J

4 Tf you double my number and add 4 you arrive ot a total that is 7 times 3 less than the
square of 11,

Number sentences

CSo!ution ),

Challenge

5 When you triple my number, add the multiple of 4 and 5 and take away the prime number
hefare 40, you end with 2 less than 5 dozen.

Number sentences

( Solution )
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Worksheet 2 Work backwards

(I 1 can't remember how much T had in my purse hefore T was paid £500 for work. \

Then T paid the phone hill of £150. I also paid the rent of £820 and still had £130

left. How much was in my purse at the beginning?

.

2 My bank balance has been erased from the statement. I can see that I paid £280 for car repairs
and received £320 from my brother's business. After that, I had two amounts of £60 paid into
my account before T paid £750 to the insurance company. There are now £60 in my bank,

What was my bank balance at the beginning?

(3 My school raised a large amount to send to the Klever Kids Charity. We receive a large
donation of £700 more. We have to pay £200 for the advertising and £350 for the rental of
the Funny Castle used in the fundraising. With £50 more, we will reach our goal of £1 500,

How much did we raise in the first place?

Challenge R I I mmNI I O O O e N Y Y R YR N T N

4 Grandpa gave Jock one note with which to pay for his day at the beach. His little sister gave
him £5.50 for his train fare, but it only cost him £3.30. He spent £7.20 for lunch and
then had £5 left to share with his friends.

How much did he get from Grandpa?

L]
L]
.
.
»
-
+
-
L]
L
L
-
L]
L
-
-
-
»
-
L]
L]
L]
L]
L]
L]
a
a
L]
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Worksheet 4 Work backwards

S

Meena, Anthony and Alexander are shopping for the holidays. They love talking
in riddles, however, so it is very hard to tell exactly what they spent!

[ Meena hought a top, a skirt, a belt and some sandals. The top was £20 less than the sandals,
while the skirt cast £6 more than that, The belt was a bargain at £20 less than the skirt.

e

If the sandals cost £49, how much did Meena spend on each item and in total?

Top Skirt Belt Sandals Total

/._‘2 Anthony wanted to be outfitted correctly for the new Soccer season. He went to buy w
haots, shorts, shirt and socks. His shorts were £10 less than the shirt, which was
£20 less than the boots. His socks cost the least, a full £19 less than his shorts.

Tf his hoots were £65, how much was each item and what was the total spent?

k Shirt Shorts Socks Boots Total

3 Alexander went to his ATM and drew out a large amount of money for his expenses.
For Christmas presents for his family, he spent £15 more on books than on CDs, which
cost £15 more than toys. Cards were one-fifth the cost of toys and one-third the cost
of calendars, which were £36. Alexander now had £27 left.

How much did he get from the ATM?
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Worksheet 5 Work backwards

Calculate what fraction remains, then give it a value.

I a At the Car Wash fundraising last Saturday, The Angels Team washed 3

the total cars, The Bizzies Team washed % of the total and The Friskys
Team washed the last 10 cars.

How many cars did The Angels Team and The Bizzies Team each wash?

b Draw a diagram illustrating the fractional parts and numbers of cars to check your solution.

G a When the house had to be painted, the Manoogle family invited their
uncles to help out. Uncle Val painted for 1 the total number of hours
needed for the whole job, Uncle Joe painted % of the total hours and
Old Uncle Freddie managed ¢ of the hours. There were 15 hours of work
left for Uncle Ted to complete the job.

How many hours did each Uncle work?

b Draw a diagram to show your solution.

. J

3 In the Chompy Chocolate Sale at their school, Class 5J sold 20%, 5S sold 30%, 6K sold 25%,
and 10% was sold by 6C. The rest were sold by 6M for £450.

How much money did 5J and 55 each make?
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Worls Work backwards

o

heet 6

bt o

As you read the problem, write down the working in the form of a number
sentence, using a symbol for the unknown number at the heginning.

I The big, final darts game got under way right on time. Jack threw and
amazingly scored an all-time best, beating his old best-ever score by 3.
Then Jock stepped up and beat that score by 5. Jack was angry and, with
a grim loak on his face, bettered Jock's score by another 5 points. Jock
didn't like that, so he chose his favourite, true-flying dart and with it,
scored 99, 2 hetter than Jack's previous throw. It was all over!

Now work backwards, changing signs.

By how many had Jock beaten Jack's original ‘best-ever score’?

2 The Ladies’ Darts Game followed the Men's. Florrie sent the first
dart flying and scored her best ever by 2 points, but Connie
responded with a score 2 better than that. Florrie then scored,
beating Connie’s by a huge 4 points but Connie came back with
a throw | better again. Florrie's last throw of 90 failed to beat
Connies hy 1, so Connie retained the championship.

Now worlk backwards, changing signs.

What was Florrie's best ever score hefore this Championship?

chal'e“ge ..‘..Ql.l‘...l".“-....‘.‘.I-Il.l-..l.l...l...l.l."0.....".‘.....'

3 Connie and Jock, the Voombahs, combined to contest the Club Championship with the Jetskis
team. The Voombahs began with an outstanding score, 2 better than their previous record. They
then bettered that by 3 points, dropped back by 2 points, and finally finished with a score one
better, The Jetskis began their turn with a good throw, bettered it by 2, then another 3 and
improved by 2 to end with an 87, 6 better than the Voombahs opening throw.

a What were the final total scores?

b What were each team’s final throws?

an s Rl sAB T b REBRASERERTRASERRTYN
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Worksheet 7 Work backwards

Mr Mystar planned a very big holiday to celebrate his business success. He Googled air fares for
different destinations, Wellington was the cheapest, half the cost of the fare to Shanghai.
Hong Kong was £500 less than Shanghai, which was £500 less than Paris, which was £100
more than Tokyo, which was £50 less than Lendon, The fare to Londan would cost him £2 200.

He eventually decided to book a trip to Shanghai this month and
Wellington next month.

a What will each fare cost him?

b Draw a ‘money line' to illustrate your solution. What scale will you use?

\. J

2 On his Shanghai trip, Mr Mystar decided to backpack along an historic highway to the Great
Temple. He begins on a Thursday by travelling 2 hours more than Friday and Saturday combined
because of hold-ups along the way. Sunday's travelling time is shorter, | hour less than Friday and
Saturday combined. On Monday he travels 2 hours more than on Sunday, and on Tuesday the
travelling time of 8 hours is equal to Monday's.

a How many hours has he travelled in total?

b If he averages 4-5 km per hour walking, how far did he walk during this trip?

¢ Draw a timeline to illustrate your solution. What scale will you use?
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Worksheet 8 Work backwards

R

Don’t forget to begin with the closing information and work backwards.

/"1 On their annual vacation, Mr Misely decided to rent a car to see the countryside.

Rental charges: £82 per day
B5p per kilometre

a Mr Misely had to pay £183.75 for the day's rental.
How far did they travel that day?

b If they had gone the extra 52 kilometres to see the Lost Valley of Frish,

how much would the car rental have been?

-

(2 Accommodation: Adulis: £55 per night

Children: £25 per night

Total cost for one night's accommodation = £185

How many children do Mr and Mrs Misely have?

\.

\

('3 Telephone charges: First minute: 19p
Fach additional minute: 15p

When Mr Miselay checked his telephone bill, he thought that his daughter,
Chattie, had talked for too long on her calls. How long would Chattie have
spoken on the following calls? (HINT: Don't forget to include the first minute.}

a Phone number — 8456 3489 Cost £2.74
b Phone number — 8003 2882 Cost £2.14
¢ Phone number - 8987 0021 Cost £4.39

Copyright ® 3P Learning — Problem Solving
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Draw a diagram

I cheese + red pepper, cheese + mushrooms, cheese + celery;

cheese/ham + red pepper, cheese/ham + mushrooms,
chesse/ham + celery

2 teacher checlk; all weed, 2 do each of the 2nd jobs,
| does each of the 3rd jobs

e,

M,
<1Worksheet 2 )

*rSTF’fﬁ'rf‘:lohn, fassie, Dan Jr, Amelig
2 teacher check

Worksheet 3
I a teacher check timeline b false
2 a teacher check timeline b true

Worksheet 4
i 2

[ 2 i 6
1 6
3
2 5 4 7 5 | 3
Z
3 4
4 5 /ANT
5
3
2 4
Qorksheet 5 )

trigngle

square circle
rectangle
hexagon eltipse
actagon

pyramid

Polygons

3D shapes Curved shapes

24

b 3,728

st s,

ONO,

Weight Loss Water Fit  Flexibility

229

Caoking

Horse riding

hb30 e24

Worksheet 7
teacher cfieck ail diagrams
I false 2 true 3 false (same) & true

Worksheet 8
T oranges
20.9 m (80 cm)
3£120

4% day = 8 hrs

Look for patterns

 Worlsheet T,
Lh '
2¢
8h
4q

5 teacher chack
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Worksheet 2
la3 69,12, 15, (8,21, 24
b 14 000, | 400, 140, 14, 1.4, 6.14, 0,014, 0.0014
¢ 3,8, 18, 38,78, (58,318,638
d 4,7, 13, 25, 49, 97, 193, 385
82,35 8,13, 21,3455
2 Sunday, Tuesday, Wednesday, Thursday, Saturday
3 January, February, March, April, September, October,
November, Pecember
&42,3,5 7, 11,13, 17, 19, 23, 28, 31, 37
B 26, 27, 28, 30, 32, 33, 34, 35, 36, 38, 38
6i2, 16,20, 24,28
73,57
822,27, 32,37, 42, 47,52, 57
93
10 7

§ai3, 34, 82 b 49,60, 97 ¢ 46, 38:5, 265, |15

2a [8}1]6 b [2j7]6
b 17 9151
4192 4738

3a3xiput+2;H, 4,523

¢ input? + I; 50, 8, 226, 20
ﬂ’""“"””‘%
C Workshee 4,:»)

P14

2 45.2, 420, 40-4, 39-6, 39:2, 35, 389, 38.85

3 84, 00, 95, 99, 102, 104, (03, 103

4 408.5 m (4005, 401, 4015, 402, 402.5, 403, 403:5)

b 4 x nput -3; 6, 29, 10

Worksheat 5
1 ARC 005, ABC 996, ARC 997, ABC 998, ABC 949,
ABD 000
b 0J 96 AA, DJ 97 AA, DJ 98 AA, DJ 99 AA
¢ AY 9990, AY 9951, AY 9992, AY 9993, AY 9694, AY 9995,
AY 9996, AY 0007, AY 9998, AY 0999, AZ 0000, AZ 000!
d 77 998, TZ 999, UA 000, UA 001, UA 002
e 36 JK 49, 36 JL. 49, 36 UM 49, 36 JN 49, 36 Jo 48
2q06,D8 E0 bQO8 RO,R2  cR9,SI, 53
d J2, 4, J6 e Xa, X2, X4 fyz7,v9, ZI
3 @ add consecutive numbers
b add consecutive odd numbers
¢ consecutive numbers cubed

%‘ksheet 6

HM
115, 31,63, 127, 255, 514, (023

Answers

2 44,35, 27,20, 14, 9,5, 2,0 {week 10)

3 —£5, ~£4, ~£5, ~£4 ete,

4al,0,repeated b1, 3,3,3, 3repeated 1,3, 2,0, 1,
3,2, 0, repeated d 1,3, 1,3, repeated €1,3,0, |,
3,0,1,3 0 repented £1,3,7,7,7,7,7, 7, repected

Worksheet 7
tag, 13,17 b9, 16 31 cl4 87,235 d 8,32
eNx3+2:7,10, 16,46 FNZ+1;0, 4,8
g N-0.5; 55 10,155 hixot, 47,99
I Nx2-2:9, 14,30 |N+ consecutive odd numbers;
10, 12, 21
2aNZ-| bNs2 ch

dN+4 eNx3+1

[ FTHG, £200, £250, £300, £350, £450, £600

2 ¢ £4 700, £4 600, £4 400, £4 000, £3 200, £1 600, nil
b Mov

3 a £1405, £1310, £1215, £1120, £1025, £930, £740, £455
b £75

4 £692

Make alist

Worksheet |

{202, 212, 222, 232, 242, 252, 262, 272, 282, 292

29009, 9 119, 0 229, 9 339, 9 448, 9 559, 9 668, 9 779,
3 889, ¢ 999

3 level, madam

4 161, 262, 363, 464, 656, 666, 767, 868, 969

B20-1-02 20-72-02 20~3-02 20-4-02,
20-5-02,20-6~-02,20-7-02,20~8-02,
20-9-02, 204! -02

6 404, 414, 424, 434, 454, 464, 474, 48B4, 494,

7121 + 464, |31 + 454, 14) + 444, 151 + 434, 161 + 424,
71 + 454, 181 + 404, 212 + 373, 222 + 363, 232 + 353,
242 + 343, 252 + 333, 262 + 323, 272 + 313, 282 + 303

f 400 . 272, 980 - 262, 979 - 252, 969 ~ 242, 950 - 232,
940 — 2722, 939 - 212, 929 - 202, 898 - |71, 888 - 161,
878 ~ |G|, 868 — 141, 858 - 131, 848 - 121, 838 ~ {11,
828 - [0l

Worksheet 2
| 5 yaars
2 8 years
3 4 years
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Worksheet 3

| £5, 50p; £5, 20p, 20p, 10p; £2, £2, £], 50p; £2, £2, £],
20p, 20p, 0p, £2, £1, £1, 50p, 50p, 20p, 20p, i0p,

2 £2,£2, 50p; £2, £1, £1, 50p; £1, £1, £1, £1, 50p; £1, £1,
£1,3 % 60p; £1, £1, 5 » 50p; £1, 7 x 50p; 9 x 50p.

3 5 weeks (£19 and £15)

Worksheet 4

160

2 4 combinations; 3 red, 2 blue with - | v, 4 p; 2y, 3 p;
3vi2pidyip

312

Worksheat 5

i16; 24

3 Pluyer §  Player 2 Umpire
Guy Fabla Mario
Guy Hong Fabia
Guy Mario Hong
Fabia Hang Guy
Fabia Marlo Hong
Hong Matle Guy

{other comhinations are possible)

Worksheet 6
| teacher check
2 teacher check

Worksheet 7
lano b8

210

Waorksheet 8

118

2 1 will he 17, mother 41, father 43
3 teacher check

Waork backwards
e ST i,
{__ Worksheet | @:}

12

272

320

448

525

Answers

l et

2 £650
3 £1 300
4 £10

Worksheet 3

I 12:40 pm; teacher check
2 1:35 pm; teacher check
3at:50 pm b IS min

@ﬁm
sheet 4

| top £29; skirt £35; belt £15; sandals £49; total £128
2 boots £65; top £45; shorts £35; socks £16; total £161
3 hooks £90; CDs £75; cards £12; toys £60;

calendars £36; £300

5--».‘
W?EB&EE,@LQ
I ¢ Angels 20; Bizzies 10 b teacher check

2 (5~ 15 hours) @ Val 20; Joe 15; Fred 10
b teacher check
3 (15% = £450) 3J £600; 35 £900

I AT3+5+5+2=09;99~2-5-5-3=84 |5
2AF24244+ ] -1 =00;00+(-1-4-2-2=82;82
JaVoombahs 81 + 84 + 82 + 83 = 328§;

Jetskis 80 + B2 + 85 4 87 = 334

b Vs 83; Js 87

et SN
C Workshg.:g-i:t:'z>

I a Shanghai £t 750; Wellington £875
b teacher check

Zaigshr bI171km
parr T

¢ Wurksﬁgt@c
1a 185 km

213

3a 18 min

¢ teacher check

b£2i2.35

Bl4min €29 min

Trial and error

Worksheet |

11 % cups pies; 2 % cups cake

2 4 adults § pie each; 4 children L pie each

3 3 peaches, 6 kiwi frult, 2 apricots, 12 strawherries,
2 bananas
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Year 5 Creative Writing Activities Each activity should take 2-4 sessions

1, Each week choose a creatlve writing prompt, (There are 8 to choose from).

2. Planyour writing uslng the suggested planning frame or the story mountain/story planner, You can copy these Into
your exercise books.

3, Draft, edit and publish your writing in your exerclse books.

Writing Task 1 Planning Layout 1

T?l@E 1 QcC t r i C The Electric Skateboard
Skateboardt

What ara its uses?

You haye been asked ta promote o new dype of skafeboord,
Tt [5 poirered by an elestitl motop end has rechargeoble
tafterles, Et I sperated fronmawireless hond controller,

#aln featuras of the elecivlc skateboord:

Cost

Wh s 1t fua? and matatenance?

Youp sl I# 1o welte a persuasive erticlé for a parent's magazine explilning the Collect words and phrases 1o help you persuada porents fo buy 1hie skateboard,
-functions ond odvanioges of Hhe elecirle skateboard,

You bl 1o moka 1 sound dtke the Dest Christmes present any chlld could ever want!

Writing Task 2 Planning Layout 2

A DC}.,(,\ w ae L_;;GQ, A Day Inthe Life of a Zoo Keeper
of 00 oo Eeeper |™

Intradusifon: v

Féod preporation, Feediyg and cleaning!

Herals the Hinetabla fer o Zoo Beaper In charge of the seals: v
: Helping the vel to check the aafmols

700-B00  Fdod preparatlon In the Zao Kitchen,

800 -9.00  Peeding the seald ond checking they are healthy,
.00 - 10,00 Cleaning the orea syrraunding the posl,
10,00 -10.30  Break

10,30 - 12,00 Accompaiying the vet en his rounds, :
1200190 Lunch : Preparation Fop didplay and meeting visloral
160.200  Preporation of food end equipinent foy dlsplay to visijors, E

200- 300  Dizplay for visitors
300 -400  cleoring up ofter visliors ond making Hial ehesks on the anmals.

e | ,

Lonctuglan

Your tnsk 1 to use the Information chove to wrlte o clear explopatisn of o zookeeper's”
day losking afier on animal of your chofes,




Writing Task 3

Planning Layout 3

How to Play a Favourite Game

How to Play a
Favourite Game

Your schopl hag bean asked to heke ¢ boak of initructions for children's faveurite
fanes. Tiesa might be games you play i1l kofe o sthodl. It cduld be o gome you enjoy

Title/Heading of .o game thaf Is very famffiar to you:

playing with your frlends, Tt must ray be @ gome you play an the camputer.

Equlpment needed:

What I3 the aim of the geme?

Your task Is Yo writé a seb of exact Inshedictions ta.explaln how'te play your favouvife
game. Remember, the person who will bz readlng your inslruciions will nevee have
piayed this game before.

Writing Task 4

Time Trsve

One evenlng you go to your computer and accldentally press one of
the Keys yott hove never presséd before, Suddenly you are
transported Info a dif ferent timel

Step by step detallst

Planning Layout 4

Time Travel

Wheba did yau travef to end what forin did your transport/Journey foke? (Remémbert
You can troval bac o forwards in Hise.)

What I the place you visit like?

¥

Whe do you meet? Whot are they llke?

Voun task I 10 welte about where you travel to, what the flace [ like, who you teet
aid how you tnanage ta get home agaln,

How do you manage o get back hoine?




ISCOVERED & NEW
TELL THE STORY.




horoctes




Story Planner

Trutrivduetion
» Introdies the miakn charactars

« Intreduci the'stiry setting

Bulld-Up

» Develop the characters
wnd the settlag

« The podnts that lead ap .
bo theoonfiict or clirmm
(high point) in the stary

Conflick/Climux
» The conflict or elimiy.
bk b story
» How do thecharacters veact?

Resolutlon |
« How thie conflict s resolved
wivd e saidlag to the stoey
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